Unit 4 Homework #1
Limiting Reactants

Answers

1.
a) HCl
b) HCl

c) Fe(OH)3
2. 
a) .5 mol NaOH

b) .5 mol Zn

c) .5 mol H2SO4
3. 
a) 2.0 mol NaCl

    2.0 mol H2O

b) 2.0 mol ZnCl2

    2.0 mol H2

c) 12.0 mol H2O
4. 
a) Cu is limiting 

    0.5 mol AgNO3 left over

b) 2.5 mol Cu(NO3)2 formed 

    5 mol Ag formed


c) 468.93 g Cu(NO3)2

    539.35 g Ag formed

5. 
a) H2SO4 is limiting

b) 9.05 g Al(OH)3 is in excess


c) 11.03 g H2O formed


    34.9 g Al2(SO4)3 formed

6.
a) AgNO3 + NaCl ( NaNO3 + AgCl

b) AgNO3 is the limiting reactant


c) NaCl is in excess


d) 2 mol NaCl are in excess


e) 3 mol NaNO3 and 3 mol AgCl produced

7. 
a) N2 + 3 H2 ( 2 NH3

b) H2 is limiting


c) N2 is in excess


d) 8 mol N2 in excess


e) 8 mol NH3 produced

8. 
a) C3H8 + 5O2 (3CO2 + 4H2O

b) Yes, C3H8 is limiting


c) 30 mol CO2 is produced


    40 mol H2O produced

9. 
a) 3CaCl2 + 2 Na3PO4 ( Ca3(PO4)2 + 6 NaCl

b) CaCl2 is the limiting reactant\


c) Na3PO4 is in excess


d) .01 mol Na3PO4 is in excess


e) 93.05 g Ca3(PO4)2

    105.31 g NaCl

